LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

Rl 2]

tixY) wle (46 line) (guulil) LY JLis) julaey cilinlge ol

13 i) 6= pgle e dpjne lals ¢ &5l LY zaliall & zaliadl 28gs

T re alile oy e laiz¥) Juolgill 28150 Ll

lol &l dall) dy | dall do M) dyy il

2019 polad) (pelitly ollg 2l 3 Cagaald luedl oo 1

lae s sos ol Jol g0 Lo 6 (i) 2



https://almanahj.com/ae/416science1
https://almanahj.com/ae/416science
https://almanahj.com/ae/416
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/ae/id=6526
https://almanahj.com/ae/id=7145
http://www.tcpdf.org

=I'"ISFAT

vwlae 6 )l ool il
The Emirates Standardized Test

slbal) ale B aaladl Jglll bl @l ey jLsal
JREAN alad) Cia gl

ale 312 Caall 0 36 liS (sae Gty sba ¥l ale (& aalall J gl sl < jlay) jlas) ; JLEAY) cika g
ea¥lale b ol o eyl Laa) (g sing Aealall GLISH ) Jsaall ol 4 5ala s Gl aany 5 cLaY)
¢ Apiall L o) 5S35 450,501 (2) ¢l sl 5 a5 ) sl ) il 3ad) (e (1) 1) pladil day )l e
Al 28I LAY e Al 5 A8l ccdle ) Ayl Aadailll (4) ¢DEaY) 5 4l 1 sall ¢ sl (3)
o) gisa (335 a sade (S ALLY) 2385 ol ¢t 10a3 LEA aaiie S Lgty geaa aaa g ¢Sl Al Gauads
Los smaa ST (0 5Samn (530) U ) aadl 4yl Cogud Aania Ala) Lo J1 s o JLERSU afiall Cuny Laic
o3a Al Laa Jgsl 0 sS4l ey Cogusd chayaia e Ala) Lol (0 camy Ladic 5 oAl
Lo Juadl 1Y dm i) agaiapes 138 5 LA asiie S Lo Do ST ALl 3 55 o gus Al giall dag) sall (o dpleall
Ala) Jlse IS o el pgeal L Juadl o)l HLaaSU (ppasiall o 5 (AS8all agll )38 (e 483 5381 5 ) gm0 cagel
ALY A0 piay LAY ey ade AlaY) il JIgee s Spadl £ sa ol (S Y cana JI gl JEEY) 2 Aspsia
DRI DA A BSAN e l s o of aiedll (S o sadadl a5y (el 303 Ll LSl jlall 5 ALY

438,90 LAY )

Jse 50 ALY aae

Adh gl 5 S yilldpall sl ) Gl el e (1) | oW Jlas ) slae
Al L il 5430 0 (2)

CBEAY) 5 alill- s all g sl (3)
Al 5 A8l ccdleliill-A ) AadaiY) (4)

Qaxia (paHlidl Al & g

elal) ale b oadaldl Jpll ol ol jley) sl

e s Al
gl 5 & jaall (5 sise e aall g I dae Y1 (s il 138 AL Glliey sadite | 1500-2000
Agmalall Y &) elal) ale il Gl
Gt @l Jlgall s 3 jaadl (5 shuse e Y s o] (5 stusall 120 a2kl elliay 1ol | 1100-1475
Jomalal) 31 ) 8 elaY) ale il

la¥) ale ey B Csllaal) GED oY1 aall (5 il 138 3 lal) @llia, o gia 900-1075
Agralal) YA b

b e e L Bl A8 jall I Y (s siaed) 138 8 k] clli Y 1555 700-875
2l e Cile ganga (any 8 acall (e ) agials ge dmalall Y1 L) (5 st

sba¥l ale il jleas pitlia (8 addad acd ) (s siuall 13 3 Adhall ling @ Cuenill dalay 500-675
Asmadall IV i) (6 s e sla¥) ale il (e g (B o) J Al

astal) alie; 48 jrall (5 giwall 138 & A0kl Eidy tdsulul) dralal) Z\A;.‘s\g.hfa <500
el s Ay

Page: 1 of 15 Publication Date: September 2021




=I'"ISFAT

vwlae 6 )l ool il
The Emirates Standardized Test

s siaall ¥l 11 Gala

Lt e 12 Ciuall O3 e Cangy Al 5 Ly (alaldl (5 sinall pailiad 5 G 1) LadY) LG
LAY 138 e 8 ea pall Cilad gl ) J g sl

Rl gl g S sl Aad) LS ) iy cha 11 il

8 b3S i ) gl g dall Ol i IS5 elaWl ale el e andl) 138 (g siny
e 2 5l slall many A slall Gaibiad g avall 8 dua sl gl @il jall 4l e cla¥) ale
e G 38 LS dall Sl Jals kSl edle il & clag 5150 SIS g )Y
A8 J s clilee 5 (o lal) uiil) g A gadall elidl) A8l e J gl A 511 4 glall Clglaall
CSI Al e 3 s LS dabiaa) dal) sl 8 2l )00 e b ohat g dal) il apdas S,
DS ey ) dslal A lall clud jall 8 jalaadl alasiind e SIS (il 5 5 4 5lall Cilasll
LS 8 anall 3 el )50 X s daal) Sl 6 Ledilh 5 g A )l anal) 3 3¢l o andll 12
LRl O 3V ) 8 el G Jelail) dpealy (3l Loy dakiaal) 4al)
sl pailad

il g5 A8 s S g (e S LSl Bt 1 o Y1 Il (el

el 8 DY)

Aol il 8 W )9 ae slall pailiad Ly

Ailasll c el 85 ) jall Aa j0 g dua gead) da 3 Jie el so g by 3 ST g ) 2 iy

" Aoall S JAl Ciaas )

Jsanll elaall iy jan (8 ol 51 S5 (8 1a 50 A 1) Ay 1Al Clileal) (adly g daay

: : P

Oo s enall o ARall 5 panill (il 2 Y gaal) gl alasin Lagh jela)

PAREGT PRSTE(§F PR LY P EGTRGIN

Lliall s sball a8 o o6l 4 il cililasll Caiay g ddliaall dpad) ol 8 4080 ) g0 o)

Ll ol 3y e

2o LeiDle & 5 Baasall Ll gy LAY Baseie SN 3 g 3 sl 3 el S 55 day 5

LAl ) 3 e Blaall (e ) Lgiany

Page: 2 of 15 Publication Date: September 2021




— I I
Bl A ya 1 Sl La ¥ - I I 5 I-I I
alailly —

vwlae 6 )l ool il
The Emirates Standardized Test

Al Ly sl 36l g 313500 52 andl

Clanadl &) ) 5 ale 38 5 A gaad) culyil] o 4 jall 21 gl 5 colaadl &) 5 ale o andll 134 (s sing
aiy Lo s Adliaall aLudi¥) Jal e JA e g g5 S & gl e 558 5l ae LA alaiil g gai e
)yl Jadiy LS ALVl Jal ye ol el Goamy Leguansd 41 5 iyl shaual (e &l
Can (e ) ) gl alail g diadl <l yuail) Jadly 5 o8 gl Al liilS 5 31 gill dda IS 3 Al
Adaidl e 5 il &1

e e )3l g deliall g calall Yl 8 Cliall A dpaal e 4 gl byl 5 431,50 S 3
Oyl sba e i e astl
s saall (ailad

AaN 35 90 DA elaal Chasy Ledic ASaal) Cila jaall iy o 0al) Hluii) 5 el dpadl iy

315l Aoy ol 8 sl ey Cilplead) 238 Jay g geail) ey Jpanill 5 ol & 5y

) gill Agiga, i)

s 3 A1) alaa¥) any 5 ¢ 480550 5 adll aasd DNA sl (ameal) Al Jlay

i) daeta

OISl gl gl o guilly 48Dle 5 Chany Ll g (S yusdy 5 Iy sl CODAY) Couay

A
) LY ae Juill Alaiaal) s jaal) ad gh g g paldall Jaadll paad 8 liall ) g2 dasy

oiad) Tl HY) g A8 jidall salead) 5 Al e ¢ Al salead) Clua (ge AaBA A5 o) Talad
" saaniall LYy il
e Al Sy s de) )5l g deliall g calall Clae 8 4 sad) duigh) i 5 dpaal aps
e JS 4 Lgalaain

Page: 3 of 15 Publication Date: September 2021




=I'"ISFAT

vwlae 6 )l ool il
The Emirates Standardized Test

CSEAY) g ALl s o) £ o3 13 acddl

O SlEMall ppaail AV Ay ki) e 3kl S W skt dal) Kl ¢ g5 andl) 138 Ganaly
<l il e gl Gall il o eagdall GATY) Jle ) shaill cillee SIS 5 dilisall ¢ 53Y)
Sl iR e agilaig
B Ayl g5 A i patbiad s dall Gl Caial e sball ¢ 53 ¢ g ga S 5
g silll e Bl &) ey o slonl) g oiill dpaal o g samgall 3850 ¢Baun e ) Al
Aaliaa) gl oY) el o g il Lladll i e astill aa o sl
¢ siaal) (ailad
551 o Ay shail) 8l pyaal Zaliaall AY) (e 3 5 ) shaill 5 Suall asaliall il
AdliaLl)
Ol 3 DUt Ss e il Ly Jaas 3 Y ey 5 30l skl cillee aaa
(S skl A gass Gl
Jsaasal) 4 il
O OSay Al Jal sl 5 alanagill Caay s o sl sl & sl e ddailacdd) Calasd 5 dpaal 2 i
() Talaal) i @lla b Ly (al @Y1 ) o

Ll 5 A8Ual) ccdle i) dil) L) 14 andl
Aabiaall Ayl asalaall el Jag) il 3S 505 . Aiad) Aalain¥) 5 Sall Jaol ) acdl) 138 Gpanady
e sl aUaill yue ZEall (3833 salal) JUE) XS Apeaiaall e a5 25l 8 aadins

L gall e 4y sal) Jal gl i e andll 3S 5 el e 3 0le o2l A0l 5 dludi ) 3 ,LaY)
Al Glatiall (gl Jabiall ey 8 ey Al lSaalinall g dplain¥) 3 a6l e

e ¢ oY) e o) sall dalaidl) 35100 dpaal 5 Al e ol s e Al dalaiaY) S
ol Qe 8 ae b () oSy N Al Jlall g dmpadall o ) sall alasind 35130 35k e 3 5l
Agepdall 4l Akl daia o Fldl s

sl pailad
OSLal 5 Cilaaianall 5 Al alaill 5 A50aY) AdEY ;L) ddliaall Al aaliall (e
Aalidall Al sl g cole i) e Yl Jasy 5 (38Ul 5 Sl
Aabiaal) Auiasl) b ginedl A daal) ikl Jelds Gun (pe A013ad) AKEN 5 Aol il
Al ) USaaliny e Ay pen U1y gl sl 51 (Jala g ol ALl (30
Jal gall 5 LS e acinal) Jal gall S a5 Al e (g 5l Jalial) i dly
Al alail) ClSaaliny a5 Alaia¥) 5 jall e VS oo i)
oY) e 3 sall dalxiaall 351030 4 il cilaalisal) dpaal 5

Page: 4 of 15 Publication Date: September 2021




Appendix 2: Sample Items

1.
Which of the following macromaolecules contains
a phosphate group?

— I
=1"1SF
——

sl s a ol Ly i3l

The Emirates Standardized Test

¢ P-group <ie gl

Nucleic acids

Al Galaa)

Carbohydrates

e g Sl

Lipids

oyl

Proteins

s gl

2
Which of the following statement is correct

regarding the "induced-fit model’ in enzyme-
substrate interaction?

ijﬂ C;}u e Ealia,.a "LJL:H .Ll;'_‘w_l't "_51
Jelss B (induced-fit model) Lzl
83500 g e V)

A The structure of the active site of

the enzyme is changed by the
substrate.

8 o 530 il gl Ay i
(855

The enzyme directly binds to the
substrate to form an enzyme-
substrate complex.

dine J€2l 8 38l s pilae as 51 Jasi
enzyme-substrate) 3 35, - & ¥
. (complex

The shape of the enzyme is
changed by the chemical reaction.

- el Jollly s 1 (S8 s

The active site of the enzyme
changes its shape to accept a
substrate.

it A1S oy 3ol datil) a8 gl s
5555
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Cystic fibrosis is a chronic and frequently fatal
genetic disease of the body's mucus glands. It is
caused by an autosomal recessive mutation. In
the European population, one out of
approximately 10,000 babies is born with the
disorder. What is the frequency of the cystic
fibrosis allele in the European population
assuming the Hardy-Weinberg conditions are
met?

4
Each alternative version of a gene is called

="SFT
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0.00001

an allele

i

a centromere

4 1€ yal) Aaladl)

a chromatid
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Which of the following cell structures is T aias el Al 4 glal) S) gl e gl
considered as a factory for protein fadall 2 s
synthesis?

| Rough endoplasmic reticulum A5mal) dg B puY) ASE)) |

LGolgi Apparatus Sl e |

[Mitochondria EB g = |

b | Nucleus 31 gall |

' The diagram below represents a cross section A 8 el s e c‘ah g Sl as
through a plant root. A student is given samples & B o s gasdie Qs plae) o
of a fluid that is rich with water. From which . ;

e 13 b s gl e plalls
> : 3 o~ - = el
tissue does this fluid come? i L s
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The following pedigree represents the Abial doaes o (Shia &) g Jia sliaf Jalad ol
inheritance of an autosomal recessive syndrome Lo Alile R
in a family. i

KEY

affected male
Glaas Ay

affected female
dlas (5

Jal e .
| el
gineration | 074D .
e Ll Normal male
€ D I:I
O

generation |l e U3

Normal female
Loy il

If the affected male in generation |l marries a oyl S Jaadl (e i oy g 56 13
normal female who is hemozygous far the trait, sl cYlaal o Lo ddoall 4 dlat dm b
what is the possibility to have an affected child? ) = & .J-*‘-h

A
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A scientist is studying the phylogeny of 4 species ghj&":{t) &H}Ji 4 el dde w o
(species 1,2 3, and 4). To this end, she . Al il e Lghas (aidas Jal a5 (10234
sequenced a fragment of DNA and she obtained 3 DNA a5l Gmaall o ¢ 3 culi s cal
the following alignment: ' 40} s ) .;:1“ .

Species 18 sl AATCGGA

Species 2¢& &l CAGGTAC

Species 3 & sl AATCTGA

Species 4 & &l CATGTGC

With this alignment, she constructed a sk B jat plin il et gl 12a ) fali)
phylogenetic tree using the parsimony method (a A_.;_)u) el (e A8 o alaan L IS
method that minimizes the number of changes _(;]H U ol il s e Jlis ;"*“
on a phylogeny).

e 33 SEN '| A .i_[
Which of the 4 phylogenetic trees below is et s i:""'“'l 7 :*’L_"“&: il
supported by the DNA sequences? ‘DNA 334 Ll s 5

A

Species 1 - pr— SORCIES 2

Species 3 — SpRCIES ]

Species 2 — Species 3

Species 4

— Speciesd |

p— Species 1 Species 1

Species 3 — Species 4

Species 2 — Species 3

Species 4 Species 2
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The ecological relationship between two different ot A ga pllid e g e Aul) 4830

species is shown in the graph below. alaf ey

Species iz
introduced
|

Gl

Population size

|
|
|
|
J
I
I
I
I
I

What ecological relationship does the graph ¢ Al Lelia all A0 45580 8 L
represent?

A7 '
| Mutualism dadiall Jols

| Extinction

C. _
| Commensalism

D. ¢ ,
| Parasitism
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A student immersed a small piece of potato
tissue in a 0.25 mol.dm ™2 sucrose solution and

the tissue showed no change in mass.

What would the student find out when he
immerses the piece ina 0.1 mol.dm™3sucrose

solution?
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Uil A il e Aatad (U jei
als 55 Sl Jslae 50 0.25 mol.dm™3 &

@58l Jddae e 0.1 mol.dm™3 &

A )
The mass would have increased

because the water potential of the
cells has decreased.

plall aga il e A1) 02 Yo
Lol

The mass would have decreased
because the water potential of the
cells has increased.

plall dea 2l 3 (o ALY L
olall

The mass would have increased
because the water potential of the
solution has decreased.

plall dga allin s ALl ala i
J gl

The mass would have decreased
because the water potential of the
solution has increased.

plall 2ga ol 35 (s ALYl

el
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. The diagram below represents a food web in an el Al & A1 ASal e slial Jakad )
ecosystem.

/Cal'erpillars

ol

Dandelions
s

If the population of hawks in this area increases, A L Adaial] 22a Aol s 2l 1Y
What effect will this increase have on the web? Pidlaal) Aatll o sale )l oda se a3 i)
- g i -

O The prey populations of hawks ) .

might decrease Later, the other el sl ) g ol el 8
populations in the web might Al b o AY) S Slaef il
decrease.

Theh[:t:-r;y populatli_ons -:)tLhal:uksK gl Ll oo ol 8
might decrease. Later the haw Gl shael G5 clEa
population might remain ’ el o zr
unchanged. L

The prey populations of hawks R gl Ll 8 soel s 8
might decrease. Later, the hawk ) - -

; e shall slaef 3l 3
population might increase. — -

The prey populations of hawks 3 (aaY sl Ll el s 8
might decrease. Later, the hawks =1-)§1\ o -E' e 1",, s
would find another prey population. = e A e sl 2
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The chart below shows the mRNA codons sbeaSl MRNA i 32 68 ol Jalaall ol
for different amino acids. Adbiad) Ay
Given the following codon sequence: B S

5 AUG UCU UAC CUG GCU CGG ... UAA 3°

Which of the following can be described as 8 bl Ll Ll o caa s of S .;“'? )
base substitution causing a nonsense MRNA “ls 2 (nonsense) 48l Jlasia)
mutation in the mRNA sequence above? 3]

Substitution of UAC for UAA in the oSl 2 UAA JUAC Jiacad
third codon P A |

Substitution of UAC for UAU in the < UAU J UAC Jlasu
third codon Ll (A (

Substitution of UAC for UCC in the o0l 2 UCC J UAC Jlas
third codan PR

Substitution of UAC for UGC in the gl 2 UGC JUAC Jlasiud
third codon P A

Page: 13 of 15 Publication Date: September 2021




{ﬂ;&“? EIE L RO [P
s o (T BP0 (08
il"'fﬂil\\‘\“ 'ii ottt g A 5318519

L)

Which of the following could not be considered a
density-dependent factor affecting population
growth?
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o iy Slle s jiel K Y SV e
¢S sl o f i Ad)

A_ /
| climate temperature

Sl 8 ) da |
[ - . .

limited nutrients

"Fﬁ'l.liu'l Jual.ﬁ.-r_'ll "Ls.‘nj.‘_'u. |

build-up of toxins

a8 5 |

predation

o Y |
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N
A

A.
A.
A.
A.
A.
A.
A.
A.
A.
A.
A
A.
A.
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